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A 72 that is between the second and lower level of aasn that is
filled with fruits that are Yav--which are mox to move on
naw--if the enbankment isten onav tall, then it belongsto the
second levd, if not, then to the lower kevdl.

If the lower and higher level each made their own separate 2y»y
but did not join in an 2yyy, ledges that stick out from awall that

IS standing next to alower and higher leve that are within ten
onoav may only be used by the lower level. Ledges that stick out

higher than ten onav may only be used by the higher level.



